(M= 145)

& AN R W % B & F
1. AR
S O SRS S S O RO FEIZSNWT, BT ELELNDOLIC LV EZTZAL T EE N,

FE 4Rl S ERIREd KR H ] ElZzomAE [ F V] & 2@eE ] F W &

= m & O A - B GERes [0 f -V EWmhEem ] -1 B GRatt ([0 6 -1 &
wrskHkc st | A M E[E S 2|0 F - &M ANOF-VE|zoMm|[OA ] &
X EET ] 0O LVERZALELEDIZOWNWT, UTFIZEALTLLEE N,

Mo & @ % P4 % 70 b O [ N Ik DL at B
E N D N
&N N Elﬁél: N BB OEm|E A O BaElr — F % ol AN B[E AN Zi|m A O BiE|h — F A 0
H () (1) 1% () It % (1) (1) () 1% () IEasgE cm)
E O%£0A0H 1,000 7,000,000 50,000 100,000
OO#R1T |O%£0AHOH 700| 4,000,000 20,000 50,000
R (A) (F) (B) (G)
! 70,000 150,000
LB MEAaE» 0 o ARWTE AWM

] A B & AN & BroH &R A

SR [ (T A B(BEORAT A DT AR —F % Ol [F A B[ A OEERF — T =0
H () (1) 1% (M) MEEe () | (1) 1% () IEseE (1)

LE |o#®O0AOR 100| 700,000 17,844 O%£0A0H 100 14,992 31,570

2} (C) (H) (D) (1)

. 17,844 14,992 31,570
#HAHOHFHEE (A) + (B) + (Cc) + (D) 102,836 M (E)
A—F2H%HEHE (F) + (G) + (H) + (1) = 181,570 1 (J)

2. FRHHBICRT 58 A OEREOEIS
1 RS (E) o B (K # &4 (E-KX100)
102,836 M 350,000 g 294 %
KA EFARE (K) (X9 AHH OIRIERE () OFIA. 30 %ZBA L aIE. BNACE 25 A,
3. BT DA MEREEOEIS
wmprg {Ex 12+ x2f (L] # I B {Kx12+Kx4} # & (L+Mx100)
1,597,172 P% 5,600,000 | 286 %
AR (M) (Cx T DA ER (L) OEIGA. 30%EZBA bhoiE. BTN CE 28 A,
FLOMENRDIUT ERRFFHITHERWZ EZ2HBEL, U FOHERBEIZOWTRELET,
1. ZOHREFIZONT, FTEIENHRTHZ &,
2.%@@EAL@E%%%; THIUZRES T &
3. ZoOHELIEET S @ﬁA@Wﬁfﬁn* THEVE T,
oo 4 oo J| oo El
e o OO0
HEHBHITHBEELFHAREFE AR 4
WA BAFRERS o000 — 000
N #£# F A B 2




